

CONVERGENCE RATES OF THE INVARIANCE PRINCIPLE FOR ABSOLUTELY REGULAR SEQUENCES

By

KEN-ICHI YOSHIHARA

(Received December 19, 1978)

1. Introduction. Let $\{\xi_j\}$ be a strictly stationary sequence of random variables which are defined on a probability space (Ω, \mathcal{A}, P) . For $a \leq b$, let \mathcal{A}_a^b denote the σ -algebra of events generated by ξ_a, \dots, ξ_b . We shall say that the sequence satisfies the absolute regularity (a.r.) condition if

$$(1.1) \quad \beta(n) = E\left\{ \sup_{A \in \mathcal{A}_n^\infty} |P(A | \mathcal{A}_{-\infty}^0) - P(A)| \right\} \downarrow 0 \quad (n \rightarrow \infty).$$

For any $T (0 < T \leq \infty)$, let $C_T = C[0, T]$ be the space of all continuous functions on $[0, T]$. We give the uniform topology by defining the distance between two points x and y in C_T as

$$(1.2) \quad \rho_T(x, y) = \sup_{0 \leq t \leq T} |y(t) - x(t)|.$$

Let $S_k = \sum_{j=1}^k \xi_j$ and $S_0 = 0$. Define a random element $\bar{S}_T = \{\bar{S}_T(t) : 0 \leq t \leq T\}$ in C_T by

$$(1.3) \quad \bar{S}_T(t) = \begin{cases} S_k & \text{for } t = k, k = 0, 1, \dots, [T], \\ \text{linearly interpolated for } t \in [k-1, k], & k = 1, \dots, [T], \\ S_{[T]} & \text{for } [T] \leq t \leq T. \end{cases}$$

where $[s]$ denotes the largest integer m such that $m \leq s$. Further, let $X_n = \{X_n(t) : 0 \leq t \leq 1\}$ be the random elements in C_1 defined by

$$(1.4) \quad X_n(t) = (n^{1/2} \sigma)^{-1} \sum_{j=1}^{[nt]} S_j \quad (0 \leq t \leq 1)$$

where

$$(1.5) \quad \sigma^2 = E\xi_0^2 + 2 \sum_{j=1}^{\infty} E\xi_0 \xi_j > 0.$$

In what follows, we assume that $\sigma = 1$.

It is known that if $E\xi_0 = 0$ and for some $\delta > 0$, $E|\xi_0|^{2+\delta} < \infty$ and $\sum \{\beta(n)\}^{\delta/(2+\delta)} < \infty$, then X_n converges weakly to a standard Wiener process $w = \{w(t) : 0 \leq t \leq 1\}$. So, if we put

$$(1.6) \quad F_n(z) = P\left(\sup_{0 \leq t \leq 1} |X_n(t)| \leq z\right)$$

and

$$(1.7) \quad \begin{aligned} F(z) &= P\left(\sup_{0 \leq t \leq 1} |w(t)| \leq z\right) \\ &= \frac{4}{\pi} \sum_{j=0}^{\infty} (2j+1)^{-1} \exp\left\{-\frac{(2j+1)^2 \pi^2}{8z^2}\right\}, \end{aligned}$$

then

$$(1.8) \quad \lim_{n \rightarrow \infty} F_n(z) = F(z).$$

In this paper, we shall prove the following theorems using Rosenkranz's method in [3].

Theorem 1. *Let $\{\xi_j\}$ be a strictly stationary, a.r. sequence of random variables such that $E\xi_0 = 0$ and for some $\delta > 0$ $E|\xi_0|^{4+\delta} < \infty$ and $\sum n|\beta(n)|^{\delta/(4+\delta)} < \infty$. Then*

$$(1.9) \quad \sup_z |F_n(z) - F(z)| = O(n^{-1/8}(\log n)^{1/2}).$$

Next, we denote by P_W the Wiener measure on C_1 . As in [3], by a "functional" F , we mean a real-valued function F with domain C_1 . We define

$$(1.10) \quad \Psi_n(z) = P(-\infty < F(X_n) \leq z)$$

and

$$(1.11) \quad \Psi(z) = P_W(-\infty < F(w) \leq z).$$

Then, we can extend Theorem 1 as follows.

Theorem 2. *Let the conditions of Theorem 1 be satisfied. Let F be a uniformly continuous functional, i.e.,*

$$(1.12) \quad |F(f) - F(g)| \leq K\rho_1(f, g) \quad (f, g \in C_1)$$

and suppose that for some positive constant L

$$(1.13) \quad |\Psi(z+h) - \Psi(z)| \leq L|h|.$$

Then

$$(1.14) \quad |\Psi_n(z) - \Psi(z)| = O(n^{-1/8}(\log n)^{1/2}).$$

2. Auxiliary results. In this and following sections, by the letter K , with or without subscript, we shall denote various positive constants.

We shall consider some lemmas.

Lemma 2.1. *If the conditions of Theorem 1 are satisfied, then for any posi-*

tive integer m

$$(2.1) \quad E\{\max_{1 \leq j \leq m} |S_j|^4\} \leq Km^2.$$

Hence, for any $\gamma > 0$

$$(2.2) \quad P(\max_{1 \leq j \leq m} |S_j| > \gamma) \leq Km^2/\gamma^4.$$

((2.1) is the special case of Theorem 3 in [5]).

Next, let $\{\eta_j\}$ be a strictly stationary, a.r. process such that $E\eta_1=0$, $\text{Var } \eta_1=c^2>0$, and $E|\eta_1|^{2+\delta}<\infty$ for some $\delta>0$. Let $\bar{w}=\{w(t): 0 \leq t < \infty\}$ be a standard Wiener process defined on the probability space (Ω, \mathcal{A}, P) .

Lemma 2.2. *Let $\{\eta_j\}$ be the sequence defined above. Let $k>0$ and $i_1 < i_2 < \dots < i_k$ be arbitrary integers. Let $g(y_1, \dots, y_k)$ be any bounded Borel function on the k -dimensional Euclidean space R^k , say, $|g(y_1, \dots, y_k)| \leq K_0$. Then, there exists a sequence of nonnegative i.i.d. random variables τ_1, \dots, τ_k with the following properties:*

$$(2.3) \quad |Eg(\eta_{i_1}, \eta_{i_2}, \dots, \eta_{i_k}) - Eg(w(T_1), w(T_2)-w(T_1), \dots, w(T_k)-w(T_{k-1}))| \leq 2K_0k\beta(d)$$

where $T_j = \tau_1 + \dots + \tau_j$ ($j=1, \dots, k$), $T_0=0$ and $d = \min_{1 \leq j \leq k-1} (i_{j+1} - i_j)$. Moreover, we have

$$E\tau_i = c^2$$

and

$$E\tau_i^j \leq K_j E|\eta_i|^{2j} \quad (j=1, 2, \dots).$$

Proof. Let $\{Y_i\}$ be the sequence of i.i.d. random variables, each Y_i having the same distribution function as that of η_i . Then, from the proof of Lemma 1 in [4] it follows that

$$|Eg(\eta_{i_1}, \eta_{i_2}, \dots, \eta_{i_k}) - Eg(Y_{i_1}, Y_{i_2}, \dots, Y_{i_k})| \leq 2K_0k\beta(d).$$

So, applying Rosenkranz's general version of the Skorokhod representation theorem (Theorem 4 in [3]) to $\{Y_{i_1}, Y_{i_2}, \dots, Y_{i_k}\}$, we have the lemma.

Remark. We can easily show that Lemma 2.2 remains true, if we use a function g of the type in Lemma 1 in [4] instead of the bounded function.

3. Proof of Theorems. For any positive integer n , we define the following numbers:

$$\begin{aligned} m &= [n^{5/13}], \quad r = [nm^{-1}], \\ \varepsilon &= \varepsilon_n = n^{-1/8} (\log n)^{1/2} \\ \gamma &= \gamma_n = (1/4) \varepsilon_n n^{1/2} \end{aligned}$$

To prove Theorem 1, we need some lemmas.

Firstly, we note that the following lemma is easily proved by Lemma 2.1.

Lemma 3.1. *If the conditions of Theorem 1 are satisfied, then*

$$(3.1) \quad mP(\max_{1 \leq j \leq r} |S_j| \geq \gamma) = o(n^{-1/8} (\log n)^{1/2}).$$

Lemma 3.2. *Assume that the conditions of Theorem 1 are satisfied. Let $\tilde{S}_n = \{\tilde{S}_n(t) : 0 \leq t \leq n\}$ be the random element C_n defined by*

$$(3.2) \quad \tilde{S}_n(t) = \begin{cases} S_{rj} & \text{for } t=rj, \quad j=1, \dots, m, \\ S_{mr} & \text{for } mr \leq t \leq n \\ \text{linearly interpolated for } t \in [(j-1)r, jr), \quad j=0, 1, \dots, m. \end{cases}$$

Then

$$(3.3) \quad P(\rho_n(\bar{S}_n, \tilde{S}_n) \geq \varepsilon_n n^{1/2}) = o(n^{-1/8} (\log n)^{1/2}).$$

Proof. It follows from the method used in the proof of (10) in [1] that

$$(3.4) \quad \begin{aligned} \rho_n(\bar{S}_n, \tilde{S}_n) &= \sup_{0 \leq t \leq n} |\bar{S}_n(t) - \tilde{S}_n(t)| \\ &\leq 2 \max_{1 \leq i \leq m} \left\{ \sup_{(i-1)r \leq j \leq ir} |S_j - S_{(i-1)r}| \right\} + \sup_{mr \leq j \leq n} |S_j - S_{mr}|. \end{aligned}$$

So

$$(3.5) \quad \begin{aligned} P(\rho_n(\bar{S}_n, \tilde{S}_n) \geq 4\gamma) &\leq \sum_{i=1}^m P(\max_{(i-1)r \leq j \leq ir} |S_j - S_{(i-1)r}| \geq \gamma) + P(\max_{mr \leq j \leq n} |S_j - S_{mr}| \geq 2\gamma) \\ &\leq (m+1)P(\max_{0 \leq j \leq r} |S_j| \geq \gamma). \end{aligned}$$

Hence, (3.3) follows from Lemma 3.1 and (3.5), and the proof is completed.

Lemma 3.3. *Let $q = [n^{1/4}]$ and $p = r - q$. Put*

$$(3.6) \quad \begin{aligned} \eta_i &= \sum_{j=1}^p \xi_{(i-1)r+j} \quad (i=1, \dots, m) \\ \zeta_i &= \sum_{j=1}^q \xi_{(i-1)r+p+j} \quad (i=1, \dots, m) \\ \zeta_{m+1} &= \sum_{i=1}^{n-mr} \xi_{mr+i}. \end{aligned}$$

Further, let $\hat{S}_n = \{\hat{S}_n(t) : 0 \leq t \leq n\}$ be the random element in C_n defined by

$$(3.7) \quad \hat{S}_n(t) = \begin{cases} \sum_{i=1}^j \eta_i & \text{for } t=rj, \quad j=0, 1, \dots, m, \\ \sum_{i=1}^m \eta_i & \text{for } mr \leq t \leq n, \\ \text{linearly interpolated for } t \in [(j-1)r, jr), \quad j=1, \dots, m. \end{cases}$$

Then

$$(3.8) \quad P(\rho_n(\tilde{S}_n, \hat{S}_n) \geq 4\gamma) = o(n^{-1/8} \log n)^{1/2}.$$

Proof. Since

$$\rho_n(\tilde{S}_n, \hat{S}_n) \leq \max_{1 \leq j \leq m} \left| \sum_{i=1}^j \zeta_i \right| + |\zeta_{m+1}|,$$

so from the method of the proof of Theorem 3 in [4] (cf. the proof of Lemma 3.4 (below)) and Lemma 2.1

$$\begin{aligned} P(\rho_n(\tilde{S}_n, \hat{S}_n) \geq 4\gamma_n) &\leq P\left(\max_{1 \leq j \leq m} \left| \sum_{i=1}^j \zeta_i \right| \geq 2\gamma_n\right) + P(|\zeta_{m+1}| \geq 2\gamma_n) \\ &\leq K\{(m^2 E\zeta_0^4/\gamma_n^4 + m\beta(p)) + E\zeta_{m+1}^4/\gamma_n^4\} \\ &\leq K(m^2 q^2/\gamma_n^4 + r^2/\gamma_n^4 + m\beta(p)) \\ &= o(n^{-1/8}(\log n)^{1/2}). \end{aligned}$$

Lemma 3.4. Let $\{\eta_j\}$ be the random variables defined by (3.6). Then, there exists a sequence of non-negative i.i.d. random variables $\tau_1^{(\nu)}, \dots, \tau_m^{(\nu)}$ ($\nu=1, 2$) with the following properties:

$$(3.9) \quad \begin{aligned} P\left(\max_{1 \leq j \leq m} |w(T_j^{(1)})| \leq z - \epsilon\right) &+ o(n^{-1/8}(\log n)^{1/2}) \\ &\leq P\left(\sup_{0 \leq t \leq 1} |\tilde{S}_n(nt)| \leq z\right) \\ &\leq P\left(\max_{1 \leq j \leq m} |w(T_j^{(2)})| \leq z + \epsilon\right) + o(n^{-1/8}(\log n)^{1/2}) \end{aligned}$$

where $T_j^{(\nu)} = \tau_1^{(\nu)} + \dots + \tau_j^{(\nu)}$ ($j=1, \dots, m$), $T_0^{(\nu)} = 0$ and

$$(3.10) \quad \begin{aligned} E\tau_1^{(\nu)} &= n^{-1} E\eta_1^2 \\ E(\tau_1^{(\nu)})^j &\leq K n^{-j} E\eta_1^{2j} \quad (j=1, 2, \dots), \end{aligned}$$

($\nu=1, 2$).

Proof. We note that $\{\eta_1, \dots, \eta_m\}$ satisfies the a.r. condition and from Lemma 3.1 $E(p^{-1/2} \eta_i)^4 \leq K$. So putting

$$g_\nu(y_1, \dots, y_m) = \begin{cases} 1 & \text{if } \max_{1 \leq j \leq m} (n^{-1/2} \sum_{i=1}^j y_i) \leq z + (-1)^\nu \varepsilon, \\ 0 & \text{otherwise,} \end{cases}$$

($\nu=1, 2$)

by Lemmas 3.2 and 2.2 we can conclude that there exists a sequence of i.i.d. random variables τ_1, \dots, τ_m satisfying (3.10) such that

$$\begin{aligned} P(\sup_{0 \leq t \leq 1} |\tilde{S}_n(nt)| \leq zn^{1/2}) &\geq P(\sup_{0 \leq t \leq 1} |\hat{S}_n(nt)| \leq (z - \varepsilon)n^{1/2}) - P(\rho_n(\tilde{S}_n, \hat{S}_n) \geq \varepsilon n^{1/2}) \\ &= P(\max_{1 \leq j \leq m} |\sum_{i=1}^j \eta_i| \leq (z - \varepsilon)n^{1/2}) + o(n^{-1/8}(\log n)^{1/2}) \\ &\geq P(\max_{1 \leq j \leq m} |w(T_j^{(1)})| \leq z - \varepsilon) - Km\beta(q) + o(n^{-1/8}(\log n)^{1/2}) \end{aligned}$$

and

$$\begin{aligned} P(\sup_{0 \leq t \leq 1} |\tilde{S}_n(t)| \leq zn^{1/2}) &\leq P(\sup_{0 \leq t \leq 1} |\hat{S}_n(nt)| \leq (z + \varepsilon)n^{1/2}) + P(\rho_n(\tilde{S}_n, \hat{S}_n) \geq \varepsilon n^{1/2}) \\ &= P(\max_{1 \leq j \leq m} |\sum_{i=1}^j \eta_i| \leq (z + \varepsilon)n^{1/2}) + o(n^{-1/8}(\log n)^{1/2}) \\ &\leq P(\max_{1 \leq j \leq m} |w(T_j^{(2)})| \leq z + \varepsilon) + Km\beta(q) + o(n^{-1/8}(\log n)^{1/2}). \end{aligned}$$

Since $m\beta(q) = O(n^{-8/13})$, (3.9) follows from the above inequalities.

Lemma 3.5. *Let T_0, T_1, \dots, T_m be one of two families $\{T_0^{(\nu)}, T_1^{(\nu)}, \dots, T_m^{(\nu)}\}$ ($\nu=1, 2$) obtained in Lemma 3.4. Then*

$$(3.11) \quad P\left(\max_{1 \leq j \leq m} \left|w(T_j) - w\left(\frac{j}{m}\right)\right| \geq \varepsilon\right) = O(n^{-1/8}(\log n)^{1/2}).$$

Proof. We define random variables Z_j ($j=1, \dots, m$) by

$$Z_j = \sum_{i=1}^j \left(\tau_i - \frac{1}{m}\right) = T_j - \frac{j}{m}.$$

Then, we can rewrite $w(T_j)$ as

$$w(T_j) = w\left(\frac{j}{m} + Z_j\right) \quad (j=1, \dots, m).$$

We note here that

$$\begin{aligned} |E\eta_1^2 - p| &\leq 2p \left[\sum_{j=p}^{\infty} E\xi_0 \xi_j + p^{-1} \sum_{j=1}^p j |E\xi_0 \xi_j| \right] \\ &\leq 2p \{E|\xi_0|^{4+\delta}\}^{2/(4+\delta)} \left[\sum_{j=p}^{\infty} \{\beta(j)\}^{(2+\delta)/(4+\delta)} + p^{-1} \sum_{j=1}^p j \{\beta(j)\}^{(2+\delta)/(4+\delta)} \right] \\ &= O(1) \end{aligned}$$

and so

$$|E\tau_1 - m^{-1}| = |n^{-1}E\eta_1^2 - m^{-1}| = |n^{-1}p\{1 + O(p^{-1})\} - m^{-1}| \leq Kn^{-1}(q + O(1)) \\ = O(n^{-3/4}).$$

On the other hand

$$\text{Var}(\tau_1) \leq E\tau_1^2 \leq Kn^{-2}E\eta_1^2 \leq Kn^{-2}p^2.$$

Hence, if we put $\lambda = n^{-1/4}$, then by Kolmogorov's inequality

$$P(\max_{1 \leq j \leq m} |Z_j| > \lambda) \leq P(\max_{1 \leq j \leq m} |\sum_{i=1}^j (\tau_i - E\tau_i)| > \lambda - \sum_{j=1}^m |m^{-1} - E\tau_j|) \\ \leq P(\max_{1 \leq j \leq m} |\sum_{i=1}^j (\tau_i - E\tau_i)| > \lambda/2) \\ \leq \lambda^{-2} \sum_{j=1}^m \text{Var} \tau_j \leq K\lambda^{-2}mn^{-2}p^2 = o(n^{-1/8}(\log n)^{1/8}).$$

The rest of the proof is the same as the proof of Lemma 6 in [3] and so is omitted.

Proof of Theorem 1. The proof is easily followed from Lemmas 3.2, 3.4 and 3.5.

Proof of Theorem 2. The proof is the same as that of Theorem 5 in [3] and so is omitted.

References

- [1] A. A. Borovkov: *On the rate of convergence for the invariance principle*. Theory Probab. Appl. 18, 207-225 (1973).
- [2] C. C. Heyde: *On extended rate of convergence results for the invariance principle*. Ann. Math. Statist. 40, 2178-2179 (1969).
- [3] W. A. Rosenkrantz: *On rates of convergence for the invariance principle*. Trans. Amer. Math. Soc. 129, 542-552 (1967).
- [4] K. Yoshihara: *Probability inequalities for sums of absolutely regular processes and their applications*. Z. Wahrscheinlichkeitstheorie verw. Gebiete 43, 319-330 (1978).
- [5] K. Yoshihara: *Moment inequalities for strong mixing sequences*. Kodai Math. J. 1, 316-328 (1978).

Yokohama National University
Department of Mathematics,
Faculty of Engineering,
156, Tokiwadai, Hodogaya,
Yokohama, Japan

